
k
.ú
. 
R
y
c
h
n
o
v
 u
 J
a
b
lo
n
c
e
 n
a
d
 N
is
o
u

k
.ú
. 
R
á
d
lo

0,9

0,8

68
0

1,92,2

2,5

11
,6

0,6

2,6

9
,6

1,2

0,9

59
8

14
4,
2

Sil
nič

ní 
na
dje
zd

km
 14

4,2
05

Pro
pu
ste

k
ev
id.
 km
 14

4,2
05

sv.
 0,
95

m 
 vo
l.v.

0,6
0m

2,3

0,7

1
3
,0

4,
8

3,2

14
4,
3

6,2

3
,7

zp
ev

n.

3,
2

k.
z.

0,3

0,5

0,6

59
9

45
6 
56

1

km
 14

4,4
00

25
1,0

0m

39
5,0

0m

-14
,63

0‰
+1
2,6

60
‰

14
4,
4

ne
zp
ev

n.
 c
es
ta

5,8

K
M

7,2

0,3

14
4,
5

3
,0

76
5

0,9

k.
z.

0,
7

0,
7

0,9

0,5

0,4

0,6 3,
8

Mo
st

ev
id.
 km
 14

4,5
98

sv.
ko
l. 5
,54

m 
 vo
l.v.
 5,
68

m

1,9

14
4,
6

0,6

1,0
1,2

2
,7

PřS

km
 14

4,6
96

 
 

A
 

A
 

za
jiš
tě
ní
 s
ka
l d
rá
t.

45
9 
65

6

km
 14

4,6
51

20
6,
00

m

25
1,0

0m

-12
,66

0‰
+7
,08

0‰

10,
1

10
,0

2,5

14
4,
7

68
3

0
,6

2.
1

2
,1 2,2

4,
0

1,3

2.
5

2,
9

2,9

0
,4

14
4,
8

686

46
1 
06

9 km
 14

4,7
+1
57

m

33
1,
00

m

20
6,
00

m

-7
,08

0‰

+0
,4
50

‰

0,
7

km
 14

4,7
+1
81

m

ZP
 

14
4,
9

o
b
ry
s 
ve

g
e
ta
ce
, 
st
ín

76
6

1,
1

km
 1
44
,7
+2
51

m

KP
=Z

O 

5,0

68
5

145
,1

r=
30
0 

m

r=3
31
 m

14
5,
0

3,0

km
 1
44
,7
+3

41
m

K
O
=Z

O
 

1,2

13
,3

0,
7

k.
z.

4,5

4,9

1,5

1,3

ob
ry
s 
ve

ge
ta
ce
, s
tín

3,
3

9,
0

8
,1

1.5

6,7

0,
5

5,8

14
,8

15
,0

3,83,5

3,
5

1,2

15,
5

ob
ry
s 
ve

ge
ta
ce
, s
tín

7,9

7,
0

7,
5

9,
3

1,1

1,
1

5
,2

7
,9

7,
6

15,
3

2,0

10,
5

2,4

11
,4

2,
0

5,
6

4,0

2,
5

11
,0

4
,9

2,
4

ob
ry
s 
ve

ge
ta
ce
, s
tín

11
,5

1
,2

9,1

10
,1

3,2

14
,7

3,
7

6,9

1,
5

1,8

2,
3

1
,7

7,1

16
,0

5,6

17
,6

1
,8

18
,2

2,6

9,0

2,
2

4,
2

19
,0

19
,5

19
,4

2,4

2
,3

2,7

1,8

5
,2

3
,5

2,3

5,6

4,7

5,
4

2,1

4,8

2,8

2,1

3,
0

2,2

1,
8

0,9

1
,6

1,
4

2,
7

7,4

5,0

1
,3

1,7

1,
1

1,1

5,1

5,0

5,6

1,0

ob
rys
 ve

ge
tac
e, 
stín

4,9

0,
8

0,9

1,
3

2,6

2,7

4,4

4,
9

3,
0

4,7

4,
0

3,5

1,3

1
,8

3,
6

3,4

2,
1

1,8
3,4

2
,3

3,
2

3,52,0

3,
0

2,
1

4,
4

4,7

2,7
2,6

2,
0

1,
8

2,
9

2,2

ob
ry
s 
ve
ge
ta
ce
, s
tín

1,8

2,
0

2,
6

2,6

0,
6

2,1

1,
9


